217aw-23 Motif Garland

Suggested yarn:
* Pierrot Yarns Loiseau Bleu [100% merino wool; 79 yds/72m per 1.41 0z./40g skein]; color #01 Milky, 2 skeins [50g / 5 motifs]

Tools/Notions:

* 4.5mm (US 7) knitting needles or size necessary to achieve gauge
+ 4.0mm (US G) crochet hook or size necessary to achieve gauge

+ cable needle

* hemp cord (3m/118.11")

« teknorote (1m/39.37") polypropylone memory wire

Finished measurements:
« width 16.5cm/6.50"
* heighth 11.5cm/4.53"

Gauge (10cm/4" square):

+ No gauge information provided in the original pattern. Use needle size necessary to achieve desired fabric stiffness.

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

Summary
Motifs: Cast on for each motif with long-tail cast-on method. Work in pattern stitch, increasing as indicated in chart. Bind off.

Finishing: Crochet edging around edges of each motif, forming a loop at top two corners of each motif as shown in finishing schematic. Thread teknorote wire through loops of each motif, forming a
garland.

Abbreviations:
BO = bind off
ch = chain st
CO =caston

k = knit

p = purl

YO = yarn over

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2018 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.



Motif

15.5cm
BO

% For increases on each side, backwards
loop cast-on increase is suggested, or use
whichever increase method you prefer.
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Pattern stitch  4.5mm needles
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Finishing  4.0mm hook

28 sts

Pattern stitch  4.5mm needles
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